LCEIZ3T/E  Wobes sa€ /6

+~/oV

/5?bmqﬂzamc¢(’ d!ﬁﬁﬁusﬂp/igﬂ

|

&% 23312

e.7V

"

’ JA/‘I
k|

-0. 7V
O.35m4

/*‘A

i SaA

2 s«
T 3. 7244
G354 J

NN\~ €

Z&
%ﬁ. 74

-/

Sk 15‘2434442ij&

2L Z 54

2.

n






Lok celbc/cre 7 <X prel Lk

_ srey Nzelzs4 — S.andy
re, /225 +24

Ver
Uy
2R ﬁc{? = 67012 /41;-3 To.?92 'ﬁ’.{,j’ R L &

—Qz - ﬁczz - /p'aé_tz 3 e #2‘_&/ /y-: 33#

Ql// '@:223.(2 _ e s 7272 . Ar-= P

/«7‘ (p(_) - 4@ —7—_ & = ¥ fZ




@
Fors K AAs /w://-—at./ 7{4 f’j’/’ ’é"“? e spesle
45;-7, %r%z,&_-(é- ek il ,{a,wwwc/w

T ey,

Gire C=Cpy = W gﬂ-! = 3¢0F
L-/a:.- ¥.7.02 ’
24
- JWV\__ K= E7m/fcunzernss«
£ok = €34
254
6{-4 = 27 (34or) C2.7.2)
s Qf/ﬂ/‘é

cliich S sosrec fied rgen ;44, ?f

/

=N 2Bl HFOr sl ;f,_/



ok o bose a/QZ- Lo Z K

zzm%_L_(#?— Ary= ~/%a . -38s

e E 2 e
G |

= 233.(2-//4;?7-: - Lek 2

2. S;pt

C= 386(2.50F) + Zsoe # P 70F
c P9V om

_,/4% e 2w (e ) # 77 F)

= V20 £4



@é ek colecton a/é?z— ///é/

&£
- 2T -
g"b //\ 2 ’43 = 2. f/ﬂ/f
.74 ﬁ T'\—| <rz drs = #9292
/S0k
f? =Soo.

focle = /0.7& (/504 = so &AL
(;",(,:.- Z . SN < //—0.?9’$) SPof v 25 o

- 5'?¢7/¢7F

7;4& = /A’F//ok.rz//r: s;aﬂ-“/rz. 746(4
%@- )%‘5’ /54s ﬁ:—j{cét//ya/c—sfp,/{y,

A/e /'2(-‘/‘//? »Yz.r/ Lse == More ﬂCC[(/"dZ/t ,Afcp%o/



Lehe oo ol cashhast diy Mo TC.
= = Foo

Cas 2 fﬂ;
@. (n = 27pF
2.2 04 l‘? G’J ” :?/,f
le = 2~
N #e
2 e = St
2.0k
22302 g” P Seourr
*re
e < (st

"4"‘-&/74,:; c/ﬂa4 G %M”{f

o’ D I/cmﬁé



G 5% s 2330 HRix = 226
5Gre BFENS

'Fz.;(é ﬁo;'& z/04
€,," = 2262 (7 * ---) ik = P71 Uy

KB Cus 0.293 45

e

Gy G = By wiok
By C3 = ZSHs

FegCq K24 = 4SChez //-‘Zﬂ//-‘"% + P& (/—a.‘rﬂ

= /.:(é_@//{f/l.,z i z’a.ﬁ.j

= ¥Y°.72

Cos Cp < £76ps

: 27645 + azﬁ/: v 2SAHS T LI 4S

[4= oz7ges |




/
£°#, G

4

-l 2
LA GC = BEYT ) i

4
(fld/rzz G C:g

E&?, - /?3; = ok
o -{ 7
O, My Gez = . 2C0 ) s2

&
,e#’ - gg = &.7.a

£, /eg G Co = £3r C07) s

o .-
K22 ’€33 Cz"cé___

2
63 = Z33a ///a.7é ///(.; 3 /&z = féz 2262

3 %y 326’2,(3 r EXETnT 86



@

/-Sféﬂ//{ﬁi.ﬂ//ma - ZO{.@ (/-amy

o /,s‘aé///f/m +o.2/e )

T S3ia

2 il
@&#zcz,cﬁ = 76 Ce 7) !

3
o
£z K29 GCg 2
Kag = Svorffi/ey = Siez

-7
’@Ja@ﬁz % Ce = 0.76C/9 ot

PRF 7. z “
L3 Z2.5Cro” /s’ < Jf:"9(/a“f/&c/ » (/;'.En.r)

n

Pele s Gy By, 3 Cn e /A{é7u/,«, &,



@ = o.27S5 us
7 /“ -
Dz = (/5. 8nS)

'7-;;7 7% 2 /ﬂf’dM/D0/€

-

SO MG Es,

Segocre /¢¢/J S

%y = Vapa, = sl Ctec. wery

G 2w, T 7S Ak Wmm/a.. s5 ok

=

ko <l ewr o o @ %{{ s sz:aﬁ’/%.

(_/;h-/aaft Gnsokers

/%//e( |

Soo iz CQreE)

Aol

$50 #é Care)

vzo #gp (@28) e ST E LAz

zZa #% (Q2c) <

Fere L Szo M “ron. Q3

> 175 #A%

Serw @ so0 Mg om 33 .



Ay wofe Mt Al gork-Lyecl

b apgeor mnc ¥ i g AP ik
Wj :7//— ,é:/jp/ )4.@‘6'4-4//9&4
Gmigihgly frmag . Thes o5 Gecasire o
oete ety achion = i ‘5“’//__’7 b posid
Seve /a/ @,& afy SN s e 4‘4—4({7'
Al gw s Ay oy ot ssar
arest NG il /4/4'/.{.

“Posyre Ay = sAY mersenally ase . 4l Aot
s Tl A ek & guccd matal
ovetare




@

s> overc oo 7%::»:'74- ;gc/.'a. Ses .
e = R HC g TTEaASHEE e
£ poles oFf ST ek L 7S M.

lete A a ook AAA

1 S7TeA %G

A = Ge) Ssktby = 24 MK .

§.
‘§ B L S hoes - < ¢
ke 175 M ba
o
-
.
Aese //47% E g0~ d'/"fg"h ey = Qrefea "——--zgﬁé
(7S SPiiy

= /fao- 79‘_.. g?.("

T €2 @ V? _;74_-/4/



T(jf, dB)

Bode Stability analysis, example from last lecture
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